Geometry Quick Quiz
December 19,2024
1

The line —3x + 4y = 8 is transformed by a dilation centered at the
origin. Which linear equation could reprasent its imageP

(1)y=%x+8 (3)3;:—%9.:—8
(2}'y=%x+8 (4)y=—%5~:—8

2
In the diagram below, AC and BD intersect at E,

A D

B C

Which information is always sufficient to prove AABE = ACDE?
(1) ABl|CcD

(9) AB= CDand BE= DE
(3) E is the midpoint of AT
(4) BED and AC bisect each other.



3.

The expression sin 57° is equal to
(1) tan 33° (3) tan B7°
(%) cos 33° (4} cos BT®

Try to answer question 3 without a calculator.

4.

In the diagram below of AABC, D is a point on BA, E is a point on
BC. and DF is drawn.

A C

If BD =5, DA = 12, and BE = 7, what is the length of BC so that
AC | DE?P

(1) 23.8 (3) 15.6
(2) 16.8 (4) 8.6
5.

A quadrilateral must be a parallslogram if

(1) one pair of sides is parallel and one pair of angles is congruent
g) one pair of sides is congruent and one pair of angles is congruent
3l

4)

(
(3) one pair of sides is both parallel and congruent
(

the diagonals are congruent



6.

In MABC shown below, ZACE is a right angle, E is a point on
AC, and ED is drawn perpendicular to hypotenuse AB,

B

A E C

IfAB =9, BC = 6,and DE = 4, what is the length of AEP

(1) & (3) 7
() & (4) 8
7.

Which equation represents a line parallel to the line whose equation
is —% + 3y = —4 and passes through the point (1,3)P

() y—3=-2(x-1 @ y+3=—S(+1)
(2) y—3=2(—1) (4) y+3 =20 + 1)



In rhornbus TIGE, diagonals TG and IE intersect at R, The perimeter
of TIGE is 68, and TG = 16,

E
What iz the length of diagonal IEP
(1) 15 (3) 34
(2) 30 (4) B3,
9.

The equation of a circle isx® + 8x + y® — 19y = 144, What are the
coordinates of the center and the length of the radius of the circle?

(1) center (4,—8) and radius 12

2) center (—4.6) and radius 12

3) center (4, —8) and radius 14
)

(
(
(4) center (—4.6) and radius 14



10.

In parallelogram PORS, QP is extended to point T and ST is drawn,

R 5

Q P T

If 3T = §P and m/ R = 130° what is m/PST?P
(1) 130° (3) BE°
(o) 80° (4) BO°



BONUS

11.

An archaeological team is exrcavatin g artifacts from a sunken merchant vessel on the
ocean floor. T o help with the exploration, the team uses arobotic probe, The probe
travels approximately 3,900 meters at an angle of depression of 67.4 degrees from
the team’s ship on the ocean surface dowm to the sunken vessel on the ocean floor.

The figure shows areprezentation of the team’s ship and the probe.
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Jelect from the drop-down menus to correctly complete the sentence,
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When the probe reaches the ocean flaor, the probe will be approximately 1 2 gg

3.377
3.600

meters below the ocean surface. When the probe reaches the ocean floor, the horizontal

distance of the probe behind the team’s ship on the ocean surface will be approximately
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meters,



Converse, Inverse, Contrapositive

Given an if-then statement "if p, then ¢." we can create three related statements:

A conditional statement consists of two parts, a hypothaesis in the “if” clause and a conclusicn in the “then” clause. For instance, “If it
rains, then they cancel school.”

"It rains " is the hypothesis.

"They cancef schoaof”is the conclusion.

To form the converse of the conditional statement, interchange the hypothesis and the conclusion.
The converse of “If it rains, then they cancel school”is "If they cancef schoal then it rains.”

To form the inverse of the conditional statement, take the negation of both the hypothesis and the conclusion.
The inverse of “If it rafns, then they cancel schoal”is “If it daes not rain, then they do not cancel schaol ©

To form the contrapositive of the conditicnal statement, interchange the hypothesis and the conclusion of the inverse statement.
The contrapositive of “If it rains, then they cancef schaol”is “If they do not cance! schoaf, then ft does not rain.”

Statement If &, then g.

Converse If ¢, then o.

If nct p, then not
q.
If nct g, then not

Inverse

Contrapositive

Taken from:

https://www.varsitytutors.com/hotmath/hotmath_help/topics/converse-inverse-contrapositive



https://www.varsitytutors.com/hotmath/hotmath_help/topics/converse-inverse-contrapositive

High School Mathematics Assessment Reference Sheet

1inch = 2.54 centimeters

1 meter = 39.37 inches
1 mile = 5280 feet
1 mile = 1760 yards

1 mile = 1.609 kilometers

1 kilometer = 0.62 mile
1 pound = 16 ounces

1 pound = 0.454 kilograms
1 kilogram = 2.2 pounds

1 ton = 2000 pounds

1 cup = 8 fluid ounces
1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 gallon = 3.785 liters
1 liter = 0.264 gallons

1 liter = 1000 cubic centimeters

Triangle L Quadratic o —b +vb2 — 4ac
Formula T 2a
Parallelogram A=Dbh :::LT:::: a, =a; +(n—1)d
Circle A=nrt (:::Ln:::f Oy =gyt
Circle C=mnd or C =2nr Geometric Series | S, ="‘;—:‘rr"where r=1
General Prisms V =Bh Radians 1 radian = % degrees
Cylinder V=nrh Degrees 1degree = % radians
Sphere = —mr?
P! 3 mr
1
Cone V=c=nrh
3
1
Pyramid V= §Bh




